
Printed in USA
©2004

Page  12

E-FHRA-PLA-0104

100 Thomas Johnson Drive, Frederick, MD 21702-4600 USA
Phone (301) 663-1600 • 1-800-638-3326

Fax (301) 663-1607 • 1-800-447-3326
Website: www.edcoinc.com • Email: sales@edcoinc.com

   FLEXIBLE HEAD RETROFIT ASSEMBLY
FOR MODELS EDG-7 & TG-7*  PART #72022

*NOTE
MODEL TG-7 WAS
FORMERLY KNOWN
AS MODEL EDG-7G

1 72023 HUB AND SHAFT, HEAD 1
2 72025 COUPLING, MORFLEX CENTER 302 1
3 72024 FLANGE, DIAMOND DISC MOUNTING 1
4 10049 PIN, ROLL 1/4 X 1 1
5 11662 NUT, HEX NYLON JAM 1/4-28 2
6 11656 SCREW, CAP 1/4-28 X 1-1/4, GRADE 8 2
7 10038 WASHER, LOCK 1/4 4
8 11657 SCREW, CAP 1/4-28 X 1-1/2, GRADE 8 2
9 72021 NUT, FLANGE 5/8-11 1

ITEM# PART# DESCRIPTION QTY.

9

8

7

7

4

3

2

6

5

1


